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The figures in the margin indicate
SJull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed: 1x7=7

RoiPE Foare Reas See e

(a) ‘Assessment Year’ means the period
starting from 1st April ending on of
the next year. (Fill in the blank)

TR 3T 9 tzrz R s e iew
> I TS 2 W 2! T2 SIS
% AT | (difer 312 999 1)
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(b) The year in which income is earned is
known as Assessment Year and the
year in which it is taxable is known as
Previous Year. (State whether the

statement is True or False)

&R RN (Cfenr va o Sog Gmd 39)

(c) Under the Income Tax Act, 1961, what
is the status of Dibrugarh University
as a ‘Person’?

IR Wiz, 1961 SR, e Zoies fEasie
e im & = ¢

(d) Tax liability of an assessee depends
upon his/her residential status.
(State whether the statement
is true or false)
QT FACA] TGS FIA (€T ATZA AR
2o eome o3 F |
(Cfehl oo o S5 G 1)

(e) Agricultural income is taxable under
section 10(1) of the Income Tax Act,
1961. (State whether the statement

is true or false)

FRere o7, ST Sz 19619 10(1)
A0S PR 2 |
(Cfeh! % (7 oiog G 391)
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(f) Section 48 of the Income Tax Act deals
with income that is exempted from tax.
(State whether the statement

is true or false)

HHFT 2T 4191 48 (AR TR 79 Sow

R Te w7 |
(Cfech) o (7 99% Gl 391)

(g) Agricultural land situated in a rural
area in India is a Capital Asset.

(State whether the statement

is true or false)

SIS A GRS SAFS FRAGH aAL!
TATE = |(Cferch) 9% @ 9o G 391)

2. Answer the following questions : 2%x4=8

oo Al et Tex ot g

(a) Explain the meaning of long-term capital
gain.

AT YEdm] e S iRy 4g |

(b) State the meaning of uniform previous
year as per the Income Tax Act, 1961.

SRR T2 1961 SER! ‘Gl A EG! IR’q
o2l &2t |
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{c) Define ‘Assessee’ as per the Income Tax
Act, 1961.

SIEFE Wz 1961 SR I Ji& T 715
fovait |

(d) State the meaning of income.

e S @R

3. Answer any three questions: 5x3=15

ficercar fofnl e S Frei ¢

(@) Briefly explain various heads of income.

g [Ifea FemEE st i 34|

(b) Explain the manner of determining the
residential status under ‘Tresident and
ordinarily resident’ in India.

QI SR FILRTS AT LS IAFZA
2 A T/ s&fe = < |

(c) Explain the meaning of ‘income from
other sources’ as per the Income Tax
Act, 1961 with any three examples.
1961 51 SIRRH Sz P S B
FJ1 (2RI B3 Y I T S A e
forteby Tatzael fwal |
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(d) Mr. Anil Barua is the owner of a house
property which is let out by him at a
monthly rent of Rs. 10,000. The
particulars of the house are given below :

fir. et 93t Wbl TR Wifers f&Aee &1 s
10,000 B3t ©Iw! Ties | T301E S RaeerTz
ICERR B

Municipal

Valuation (MV) Rs. 1,30,000 p.a.
R G g

Fair Rent (FR) Rs. 1,10,000 p.a.
RIRIASIY { ‘ 3
Standard Rent

under Rent Control
Act (SR) Rs. 90,000 p.a.

el FEEt Sz
TfiNe Fai€e oot

Fire Insurance (Sf31) Rs. 600 p.a.

Municipal Taxes Paid 10%
TS STy

Determine his income from house
property for the assessment year

2021-22. - 5
2021-22 39 F&IT 357 IR rifes =
et a1
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(e} For the Assessment Year 2021-22,
Ramesh is non-resident in India. From
the information given below, find out
his income chargeable to tax for the
Assessment Year 2021-22:

202 1-22 &R 991 I IEm SRedEe  TH
THIE | Oee T AR #[l, 2021-22
21’ 992 @ (o'eq ey Sy [y =41 :

() Royalty received by him outside
India from the Government of India
RSS7:000

CI9® 54D 29 ©Ied AIfEEe oiie 0o

(i) Technical fees received from P. Ltd.
(an Indian Company) in Germany
for advice given by him in respect
of a project situated in Dubai

Rs. 2,40,000

TAIZS SRAFS Wbl &FHE A Bore s
A P. Ltd (5! SRS (@I=i~1)- #&1

Gisfire 2 egfeare ipe)

(i) Income from a business situated
in Sri Lanka (goods are sold in Sri
Lanka, sale consideration is
received in Sri Lanka but business
is controlled partly in Sri Lanka
and partly in India) Rs. 1,40,000
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SeFre SAES AT 271 A (Hlerare
T Rl w11 = 9% Qergive [ReFwen
oY zg, T8 YT [Fagd 90 J
SRS AFTFR 2[ W HLHFSII
ST dl) '

(iv) Income from a business

connection in India (it is received
outside India) Rs. 3,17,000

OHeY F5® MIE A IRATE A« Al
o (ORed zTe i)

4. Answer any three questions: 10x3=30
fRiwiza fofaor e Ted o

(a) What is a capital asset as per section
2(14) of the Income Tax Act, 1961 ?
Describe the procedure of computation
of long term capital gains as per the
provisions of this Act. 5+5=10

AT W3 19617 4191 2(14)F WS a4
e & T ¢ TE wizae [RuW S fidsm
Yol o faie o 399 391

(b) ~Sitaram (age 45, resident) is a salaried
employee (salary being Rs. 40,000 per
month). During the previous year

' 2020-21, he makes the following
investment deposits or payments :
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AR (I3 45, AP ) 9o @oqcsisn

FHIN! (MR v 40,000 B1) | 2020-21

{38 38 (Se Rt ot @t wwraare were

R weE wifes

() Life insurance premium (policy
taken in 2009) on the life of his
married daughter: Rs. 6,000/-
(sum assured is Rs. 20,000)

(i) Life insurance premium (policy
taken in 2011) on his own life:
Rs. 25700 s=(sum - assured
Rs. 60,000)

(iii) Life insurance premium (policy
taken in 2011) on the life of his
dependent sister: Rs. 10,000

(iv) Contribution towards recognised
Provident Fund : Rs. 9,000

(v) Contribution towards public
provident fund: Rs. 1,30,000

(vi) Repayment of loan taken from LIC
for purchase of residential house
property : Rs. 30,000

(vii) Contribution towards notified
equity-linked saving scheme of UTI
(i.e., MEP 2021): Rs. 14,000

Compute his Tax liability for the
Assessment Year 2021-22, assuming
that his income from house property is
Rs. 2,28,900
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(i) GRER fERES (2009 599 @GR (963
fFaifeet FU[ @ 6,000 Tt (FFS
I 20,000 TM)

(i) o= IR SR/ (2011 5 (EARY)
fafims 2,700 B (IWFS &0
60,000 531)

(i) FSTNE SANEHE AR FRAQ (2011
5o (@) fefsms 10,000 B

(iv) e oRF [{fEq @ 9,000 3

(v) Public Provident fund-3 I
1,30,000 5)

(vi) TRETAED JETife 4 A LIc
#J @ A9 #f{Ey 30,000 B

(vii) UTI-F Notified Equity-linked Saving
Scheme (MEP 2021)-§ JH
14,000 B ‘

(S'aT P2 TG 7 W7 2,28,900 G e,
2021-22 FEaT 761 AR (36 33-39 [l
-4 |

(c) From the following Profit and Loss Account
of Sudesh Bhosale (Age 45 years; resident)
for the year ended on 31st March, 2021,
ascertain his Gross Total Income for the
Assessment Year 2021-22: 10

Aol COPIE (ITA 45 I, ) 31 W6
2021 SIIY® B IZIWIE TS Al Fre-
6 f251e o (969 2021-22 &
T T oy R wwe.
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Particulars Amount |Particulars Amount
(Fel) (Rs.) (b | (Real) (Rs.) (53)
Salaries 26,800 |Gross Profits 6,91,000
LAREY G
Bad Debts 44,000 |Commission 36,600
SERTE 3
Prepaid Rent 4,000 |Brokerage 74,000
ane
Insurance (J791) 1,200 |Sundry Receipts 5,000
General Expenses 52,000 fafe e
e 3Ep ; Bad debt Recovered 22,000
Salary to Sudesh Bhosalc 1,02,000 |(earlier allowed as
deduction)
Wm TR 3 Tl
Interest on Overdraft 8,000 (ST T )
Higgdq @oqw 7 Interest on Debentures 76,000
Interest on Loan to- wife YIAIGI 67T 30
of Sudesh Bhosale 84,000
b (4 MAM(GiC o9
€439 il 7o
Interest on Capital of :
Sudesh Bhosale 46,000
0 (SR o4
8999 O
Depreciation 96,000
GIFY
Advertisement Expenditure 14,000
fR@tem 435
Contribution to
Employees’ Recognised ’
Provident Fund 26,000
RIS ali)
ofewl
Net Profit 4,00,600
ugs are
Total 9,04,600 |Total 9,04,600
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Other information :
T O

(i)

(11)

(i)

(iv)

(v)

The amount of deprecnatxon allowable is
Rs. 57,000 as per Income Tax Rules

Wﬁﬂﬂwmﬂxmoﬁw

57,000 53

Advertisement expenditure includes
Rs. 3,000 being the cost of permanent sign
board fixed on the office premises

Tfe Sae Al N T (Q3E @6) 49%
3,000 5%l fA@isl ¥969 I9E (R

Income of Rs. 3,08,700, accrued during the
previous year, is not recorded in the Profit
and Loss Account

{351 a2q (5IT® B oA 3,08,700 5 Fre-(=bI
fZpiee swge 2Rl A2

Sudesh Bhosale pays Rs. 15,000 as

premium on own life insurance policy of
Rs. 70,000

70,000 TR o Gikq Ji ~AfAdI @ Foe
coFE 15,000 5 fafiam (F ) e s
i

General expenses include Rs. 12,000 given
to Mrs. Sudesh Bhosale for purchasing a
gift for a marriage party of a friend’s
daughter
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(vy

(d)

(e)

(f)

GTH TG TR [T PR THRR T 3919 A
Arfe el (SPTEE W 12,000 5 AlRe <=1
T© TICE (2 WNE

Loan was taken from Mrs. Sudesh Bhosale
for payment of arrears of income tax

RS oI CSPTCEE 211 2t (711 (3f%et 3 e
omR i Qi

Briefly explain the basic rules governing the
deductions under section 80C to 80U of the
Income Tax Act, 1961. 10

T Wiz 19619 4191 80C-F =¥ 80U< SFINS
PO TS TGS 351 AT AT 1071 541 |

Explain the process of setting off of losses
and their carry forward as per the provisions
of the Income Tax Act, 1961. 10

YITT WEA 19613 RYPRR SR @w6RT
setting off % @IS carry forward—< )
TRA 9 |

Write short notes on the following :

5+5=10
woTe MRIIRIST €%19S 5% (G fordll ;
() On-line filing of returns of income
SRS AfOTama Sieties wifeae

(1) Tax deducted at source
TS 6 B9 B9
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